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= 9,026 1,073 7,952 97,442 13,477 66,732 7.1 0.8 6.2 76.3 52.2
it A 620 71 549 3,363 663 3,025 11.0 1.3 9.8 59.8 53.8
H s 109 15 94 972 305 575 7.6 1.0 6.5 67.7 40.0
Ve + 107 16 91 914 206 591 7.7 1.2 6.6 66.0 42.7
= £ 151 28 123 1,575 256 1,034 6.4 1.2 5.2 66.7 43.8
X 5] 78 15 63 807 125 472 6.8 1.3 5.5 70.4 41.2
(L i 70 14 56 930 133 467 5.8 1.2 4.6 76.5 38.4
& = 147 22 125 1,434 214 887 7.0 1.1 6.0 68.6 42.4
p/ b 205 22 183 1,661 247 1,339 6.9 0.7 6.2 55.8 45.0
L} A 118 18 100 1,372 223 968 5.9 0.9 5.0 68.0 48.0
BE )i 143 13 130 1,527 222 931 7.1 0.6 6.4 75.4 46.0
B BN 361 48 313 3,778 379 3,212 5.1 0.7 4.4 53.6 45.5
+ i 287 35 252 3,620 380 3,029 4.7 0.6 4.2 59.8 50.0
R il 667 54 613 12,269 966 10,436 5.3 0.4 4.9 97.6 83.0
o= 356 43 313 6,053 478 4,689 4.0 0.5 3.6 68.8 53.3
# e 139 20 119 1,692 139 1,165 5.7 0.8 4.9 69.6 47.9
= (L 115 19 96 782 109 467 10.3 1.7 8.6 70.3 42.0
i I 109 13 96 855 144 469 9.3 1.1 8.2 72.8 39.9
& I 86 10 76 576 143 274 10.5 1.2 9.3 70.1 33.3
th e 61 7 54 642 97 422 6.9 0.8 6.1 72.6 47.7
& g 137 16 121 1,509 187 990 6.2 0.7 5.5 68.7 45.1
53 B 110 13 97 1,503 230 929 5.2 0.6 4.6 71.3 44.1
B [if] 189 32 157 2,627 362 1,721 5.0 0.8 4.1 69.3 45.4
= %0 350 37 313 4,785 542 3,536 4.8 0.5 4.3 66.0 48.7
= H 113 13 100 1,439 202 852 6.1 0.7 5.4 77.1 45.6
s = 63 7 56 913 58 544 4.6 0.5 4.1 66.1 39.4
o il 177 12 165 2,504 189 1,305 6.7 0.5 6.2 94.6 49.3
x 1553 552 40 512 8,116 483 5,297 6.3 0.5 5.8 92.0 60.1
o i 350 32 318 4,800 301 2,863 6.3 0.6 5.7 85.9 51.2
%= B 78 4 74 1,096 85 676 5.5 0.3 5.2 77.1 47.6
o kb 91 9 81 1,083 169 560 8.8 0.9 7.8 104.5 54.1
= B 45 5 40 542 86 263 7.4 0.8 6.6 89.3 43.3
= R 58 8 50 762 87 292 7.8 1.1 6.7 102.7 39.3
fii] [ 183 18 165 1,616 277 993 9.3 0.9 8.4 82.6 50.7
JE = 261 30 231 2,602 357 1,511 9.1 1.0 8.0 90.5 52.5
(L 5] 151 29 122 1,321 227 682 10.1 1.9 8.2 88.5 45.7
1 B 123 16 107 783 192 427 15.2 2.0 13.2 96.7 52.7
= JI 105 10 95 806 177 444 10.4 1.0 9.4 79.6 43.9
= % 153 15 138 1,208 368 686 10.4 1.0 9.4 82.3 46.7
= %0 141 13 128 599 127 355 17.7 1.6 16.1 75.2 44.6
[ [if] 478 60 418 4,374 839 2,951 9.5 1.2 8.3 86.6 58.4
7% [ 111 14 97 686 237 403 12.8 1.6 11.2 79.2 46.5
s [ 168 28 140 1,439 453 748 11.4 1.9 9.5 97.3 50.6
e VN 222 38 184 1,479 472 807 12.1 2.1 10. 80.3 43.8
K i 165 25 140 955 332 543 13.6 2.1 11.6 79.0 44.9
=] I 149 15 134 903 281 516 12.9 1.3 11.6 78.3 44.8
B R & 279 38 241 1,404 478 803 15.9 2.2 13.7 80.1 45.8
i b 95 13 82 766 160 583 7.0 1.0 6.0 56.3 42.8 |
FRUEBD X 441 14 427 9,368 752 8,245 5.2 0.2 5.0 110.3 97.1
LR T 219 26 193 1,228 196 1,194 11.6 1.4 10.3 65.3 63.5
e 62 8 54 835 96 554 6.0 0.8 5.3 81.5 54.0
~| X\ FE 42 4 38 772 63 609 3.6 0.3 3.2 65.6 51.8
/| TEG 48 6 42 633 70 527 5.2 0.6 4.5 68.5 57.0
fa| M 137 19 118 2,641 177 1,962 3.8 0.5 3.3 73.8 54.8
— | I 45 5 40 872 59 694 3.4 0.4 3.0 65.7 52.3
1| 28 5 23 539 45 328 4.0 0.7 3.3 76.9 46.8
5| 4dEM 139 9 130 1,895 166 1,398 6.3 0.4 5.9 85.6 63.1
K| AR T 111 6 105 1,644 118 845 7.5 0.4 7.1 111.5 57.3
a5 KBt 199 - 199 3,366 178 2,194 7.6 - 7.6 128.0 83.5
| AT 107 1 96 1,545 103 889 7.0 0.7 6.3 101.3 58.3
SR T 91 9 82 1,160 153 657 7.9 0.8 7.1 100.5 56.9
B % 92 13 79 1,009 168 680 9.3 1.3 8.0 101.6 68.4
A& ) T 119 13 106 1,323 210 966 8.5 0.9 7.6 94.4 68.9
JE T 42 4 38 254 55 197 11.8 1.1 10.7 71.5 55.5
FHTT 26 6 20 274 30 170 7.8 1.8 6.0 82.3 51.0
AR 22 3 19 241 36 159 6.5 0.9 5.6 71.1 46.9
Wham 29 6 23 269 40 166 8.2 1.7 6.5 75.9 46.8
THEE T 30 4 26 408 75 272 6.6 0.9 5.7 89.1 59.4
JI Bk T 26 6 20 180 19 166 7.8 1.8 6.0 53.9 49.7
Y re] 23 4 19 342 29 293 4.0 0.7 3.3 60.0 51.4
RRZEE T 13 - 13 312 28 242 3.1 - 3.1 73.2 56.8
FRFELRUT 30 2 28 334 30 313 4.8 0.3 4.5 53.1 49.8
AT 47 8 39 632 48 449 6.0 1.0 5.0 80.5 57.2
& 48 8 40 333 39 197 11.4 1.9 9.5 79.1 46.8
AR 50 7 43 395 66 210 11.0 1.5 9.5 86.9 46.2
e i) 26 2 24 288 34 195 6.9 0.5 6.3 76.1 51.5
R B T 32 2 30 377 59 246 8.0 0.5 7.5 94.3 61.5
~ =R 38 8 30 609 73 370 4.7 1.0 3.7 75.7 46.0
B EET 24 4 20 252 34 182 6.4 1.1 5.4 67.7 48.9
# BEmd 20 4 16 183 14 147 4.9 1.0 3.9 44.4 35.7
— | [T 17 2 15 204 25 156 4.8 0.6 4.2 57.5 44.0
I SR 46 5 41 705 50 455 5.5 0.6 4.9 84.8 54.8
K |_Ei 19 3 16 255 12 179 5.4 0.9 4.5 72.5 50.9
SN 26 2 24 411 22 286 5.1 0.4 4.7 80.0 55.7
R T 37 2 35 374 53 258 7.7 0.4 7.3 77.5 53.5
ey =417] 22 1 21 353 20 199 5.9 0.3 5.7 95.4 53.8
ok Lty 42 4 37 463 62 241 11.2 1.1 9.9 123.3 64.2
[if] (L1 57 6 51 635 103 412 8.4 0.9 7.6 94.1 61.1
VX il 41 4 37 348 59 226 8.7 0.9 7.9 74.1 48.1
BT 43 5 38 201 57 212 10.3 1.2 9.1 69.5 50.7
=N 35 2 33 343 73 185 10.4 0.6 9.8 101.5 54.7
/N1 46 5 41 431 149 248 8.9 1.0 8.0 83.7 48.2
e 68 8 60 290 57 178 20.4 2.4 18.0 87.0 53.4
= 51 9 42 571 131 281 11.5 2.0 9.5 129.0 63.5
REATH 91 15 76 574 157 347 13.6 2.2 11.4 85.7 51.8
Koy 55 12 43 362 130 216 11.9 2.6 9.3 78.3 46.7
IR T 33 3 30 322 87 183 10.6 1.0 9.7 103.8 59.0
Ve T 104 13 91 514 167 356 17.2 2.2 15.1 85.0 58.9




